Stock buyback program Information

Date: 04/10/2021

Bolsa Mexicana de Valores, S.A.B. de C.V., informs:

STOCK EXCHANGE CODE

PINFRA

NAME OF THE COMPANY

PROMOTORA Y OPERADORA DE INFRAESTRUCTURA,

S.A.B. DE C.V.

DATE OF THE OPERATION

RESOURCES REMAINING

01/10/2021

Up to the last Report	8,000,221,157
Currently	7,990,780,409

OPERATION FOR EACH OF THE SERIES

SERIES *

BROKERAGE GBM

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	380,123,523	12,148,816
To the present Report	0	380,123,523	12,214,843

OPERATION

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
12885	BUY	50,000	\$143.20	\$7,160,000	EQUITY
12886	BUY	40	\$142.87	\$5,715	EQUITY
12887	BUY	40	\$142.87	\$5,715	EQUITY
12888	BUY	100	\$142.87	\$14,287	EQUITY
12889	BUY	100	\$142.87	\$14,287	EQUITY
12890	BUY	122	\$142.87	\$17,430	EQUITY
12891	BUY	100	\$142.87	\$14,287	EQUITY
12892	BUY	103	\$142.83	\$14,711	EQUITY
12893	BUY	103	\$142.83	\$14,711	EQUITY
12894	BUY	40	\$142.72	\$5,709	EQUITY
12895	BUY	60	\$142.74	\$8,564	EQUITY
12896	BUY	40	\$142.71	\$5,708	EQUITY
12897	BUY	40	\$142.74	\$5,710	EQUITY
12898	BUY	24	\$142.74	\$3,426	EQUITY
12899	BUY	134	\$142.74	\$19,127	EQUITY
12900	BUY	80	\$142.72	\$11,418	EQUITY
12901	BUY	20	\$142.72	\$2,854	EQUITY
12902	BUY	40	\$142.71	\$5,708	EQUITY
12903	BUY	63	\$142.71	\$8,991	EQUITY
12904	BUY	109	\$142.71	\$15,555	EQUITY
12905	BUY	22	\$142.71	\$3,140	EQUITY
12906	BUY	3	\$142.72	\$428	EQUITY

12907	BUY	19	\$142.72	\$2,712	EQUITY
12908	BUY	10	\$142.72	\$1,427	EQUITY
12909	BUY	63	\$142.72	\$8,991	EQUITY
12910	BUY	14	\$142.72	\$1,998	EQUITY
12911	BUY	7	\$142.72	\$999	EQUITY
12912	BUY	2	\$142.72	\$285	EQUITY
12913	BUY	10	\$142.73	\$1,427	EQUITY
12914	BUY	100	\$142.73	\$14,273	EQUITY
12915	BUY	40	\$142.73	\$5,709	EQUITY
12916	BUY	60	\$142.73	\$8,564	EQUITY
12917	BUY	1	\$142.73	\$143	EQUITY
12917	BUY	71	\$142.73	\$10,134	EQUITY
12918	BUY	30	\$142.73	\$4,282	EQUITY
	BUY				
12920		1 50	\$142.73	\$143	EQUITY
12921	BUY	50	\$142.71	\$7,136	EQUITY
12922	BUY	13	\$142.71	\$1,855	EQUITY
12923	BUY	37	\$142.72	\$5,281	EQUITY
12924	BUY	38	\$142.50	\$5,415	EQUITY
12925	BUY	128	\$143	\$18,240	EQUITY
12926	BUY	140	\$142	\$19,921	EQUITY
12927	BUY	3	\$142.29	\$427	EQUITY
12928	BUY	210	\$142.31	\$29,885	EQUITY
12929	BUY	3	\$142	\$427	EQUITY
12930	BUY	125	\$142	\$17,786	EQUITY
12931	BUY	260	\$142.17	\$36,964	EQUITY
12932	BUY	4	\$142.18	\$569	EQUITY
12933	BUY	130	\$142.25	\$18,493	EQUITY
12934	BUY	1,049	\$142.25	\$149,220	EQUITY
12935	BUY	100	\$142.25	\$14,225	EQUITY
12936	BUY	282	\$142.25	\$40,115	EQUITY
12937	BUY	100	\$142.19	\$14,219	EQUITY
12938	BUY	1	\$142.19	\$142	EQUITY
12939	BUY	126	\$142.06	\$17,900	EQUITY
12940	BUY	75	\$142.07	\$10,655	EQUITY
12941	BUY	1	\$142.09	\$142	EQUITY
12942	BUY	295	\$142.12	\$41,925	EQUITY
12943	BUY	3	\$142.12	\$426	EQUITY
12944	BUY	30	\$142.12	\$4,264	EQUITY
12945	BUY	76	\$142.13	\$10,802	EQUITY
12946	BUY	80	\$142.17	\$11,374	EQUITY
12947	BUY	20	\$142.19	\$2,844	EQUITY
12948	BUY	100	\$142.25	\$14,225	EQUITY
12949	BUY	105	\$142.25	\$14,223	EQUITY
12949	BUY	136	\$142.25	\$14,936	EQUITY
12950	BUY	160	\$142.25	\$19,346	EQUITY
				•	
12952	BUY	120	\$142.25	\$17,070	EQUITY
12953	BUY	4	\$142.28	\$569	EQUITY
12954	BUY	92	\$142.27	\$13,089 \$40,670	EQUITY
12955	BUY	75	\$142.27	\$10,670 \$42,003	EQUITY
12956	BUY	90	\$142.26	\$12,803	EQUITY
12957	BUY	70	\$142.26	\$9,958	EQUITY
12958	BUY	20	\$142.26	\$2,845	EQUITY
12959	BUY	120	\$142.27	\$17,072	EQUITY
12960	BUY	114	\$142.27	\$16,219	EQUITY
12961	BUY	100	\$142.30	\$14,230	EQUITY

12962	BUY	2	\$142.30	\$285	EQUITY
12963	BUY	73	\$142.50	\$10,403	EQUITY
12964	BUY	2	\$142.50	\$285	EQUITY
12965	BUY	27	\$142.52	\$3,848	EQUITY
12966	BUY	262	\$142.50	\$37,335	EQUITY
12967	BUY	117	\$142.48	\$16,670	EQUITY
12968	BUY	40	\$142.17	\$5,687	EQUITY
12969	BUY	75	\$142.17	\$10,663	EQUITY
12970	BUY	177	\$142.22	\$25,173	EQUITY
12971	BUY	100	\$141.95	\$14,195	EQUITY
12972	BUY	1	\$141.95	\$142	EQUITY
12973	BUY	160	\$142.09	\$22,734	EQUITY
12974	BUY	56	\$142.10	\$7,958	EQUITY
12975	BUY	105	\$142.10	\$14,921	EQUITY
12976	BUY	1	\$142.11	\$142	EQUITY
12977	BUY	100	\$142.11	\$14,215	EQUITY
12978	BUY	70	· ·		EQUITY
	BUY		\$142.09	\$9,946	
12979		100	\$142.09	\$14,209	EQUITY
12980	BUY	9	\$142.09 \$142.06	\$1,279	EQUITY
12981	BUY	101	\$142.06	\$14,348	EQUITY
12982	BUY	40	\$142.01	\$5,680	EQUITY
12983	BUY	40	\$142.01	\$5,680	EQUITY
12984	BUY	20	\$142.01	\$2,840	EQUITY
12985	BUY	21	\$142.07	\$2,983	EQUITY
12986	BUY	85	\$142.07	\$12,076	EQUITY
12987	BUY	100	\$142.08	\$14,208	EQUITY
12988	BUY	100	\$142.09	\$14,209	EQUITY
12989	BUY	45	\$142.09	\$6,394	EQUITY
12990	BUY	231	\$142.11	\$32,827	EQUITY
12991	BUY	101	\$142.16	\$14,358	EQUITY
12992	BUY	134	\$142.21	\$19,056	EQUITY
12993	BUY	47	\$142.29	\$6,688	EQUITY
12994	BUY	58	\$142.29	\$8,253	EQUITY
12995	BUY	80	\$142.39	\$11,391	EQUITY
12996	BUY	126	\$142.39	\$17,941	EQUITY
12997	BUY	122	\$142.30	\$17,361	EQUITY
12998	BUY	104	\$142.36	\$14,805	EQUITY
12999	BUY	40	\$142.24	\$5,690	EQUITY
13000	BUY	126	\$142.24	\$17,922	EQUITY
13001	BUY	106	\$142.37	\$15,091	EQUITY
13002	BUY	108	\$142.53	\$15,393	EQUITY
13003	BUY	99	\$142.50	\$14,108	EQUITY
13004	BUY	2	\$142.50	\$285	EQUITY
13005	BUY	106	\$142.49	\$15,104	EQUITY
13006	BUY	40	\$142.65	\$5,706	EQUITY
13007	BUY	70	\$142.66	\$9,986	EQUITY
13008	BUY	136	\$142.68	\$19,404	EQUITY
13009	BUY	106	\$142.69	\$15,125	EQUITY
13010	BUY	100	\$142.70	\$14,270	EQUITY
13011	BUY	3	\$142.71	\$428	EQUITY
13011	BUY	80	\$142.71	\$11,417	EQUITY
13012	BUY	6	\$142.71	\$856	EQUITY
13013	BUY	54	\$142.71	\$7,706	EQUITY
13014	BUY	159	\$142.71	\$22,689	EQUITY
13016	BUY	100	\$142.70	\$14,250	EQUITY
13010	DU I	100	ψ142.30	φ14,200	LQUIT

13017	BUY	59	\$142.50	\$8,408	EQUITY
13018	BUY	104	\$142.53	\$14,823	EQUITY
13019	BUY	6	\$142.50	\$855	EQUITY
13020	BUY	136	\$142.52	\$19,383	EQUITY
13021	BUY	30	\$142.52	\$4,276	EQUITY
13022	BUY	1	\$142.50	\$143	EQUITY
13023	BUY	181	\$142.51	\$25,794	EQUITY
13024	BUY	102	\$142.51	\$14,536	EQUITY
13025	BUY	100	\$142.50	\$14,250	EQUITY
13026	BUY	107	\$142.50	\$15,248	EQUITY
13027	BUY	40	\$142.50	\$5,700	EQUITY
13028	BUY	72	\$142.50	\$10,260	EQUITY
13029	BUY	102	\$142.50	\$14,535	EQUITY
13030	BUY	163	\$142.46	\$23,221	EQUITY
13031	BUY	137	\$142.40	\$19,509	EQUITY
13031	BUY	109	\$142.40	\$15,522	EQUITY
13032	BUY	6	\$142.40	\$854	EQUITY
13034	BUY	91	\$142.47	\$12,965	EQUITY
13034	BUY	22	\$142.48	\$3,135	EQUITY
13036	BUY	5	\$142.47	\$712	EQUITY
13036	BUY	85	\$142.47	\$12,110	EQUITY
		2		·	EQUITY
13038	BUY		\$142.47	\$285	
13039	BUY	11	\$142.48	\$1,567	EQUITY
13040	BUY	101	\$142.48	\$14,390	EQUITY
13041	BUY	4	\$142.47	\$570	EQUITY
13042	BUY	106	\$142.47	\$15,102	EQUITY
13043	BUY	30	\$142.47	\$4,274	EQUITY
13044	BUY	72	\$142.48	\$10,259	EQUITY
13045	BUY	79	\$142.47	\$11,255	EQUITY
13046	BUY	50 3	\$142.47	\$7,124	EQUITY
13047	BUY BUY	156	\$142.47 \$142.48	\$427	EQUITY
13048	BUY			\$22,227	EQUITY
13049		118	\$142.51	\$16,816	EQUITY
13050	BUY BUY	200	\$142.46	\$28,492 \$10,357	EQUITY
13051		72	\$142.46	\$10,257	EQUITY
13052	BUY	30	\$142.44	\$4,273	EQUITY
13053	BUY	73	\$142.45	\$10,399	EQUITY
13054	BUY	32	\$142.00	\$4,544	EQUITY
13055	BUY BUY	68	\$142.00	\$9,656	EQUITY
13056	_	100	\$141.72	\$14,172 \$002	EQUITY
13057	BUY	7	\$141.72	\$992	EQUITY
13058	BUY	101	\$141.65	\$14,307	EQUITY
13059	BUY	120	\$142.00	\$17,040	EQUITY
13060	BUY	87	\$141.62	\$12,321	EQUITY
13061	BUY	15	\$141.81	\$2,127	EQUITY
13062	BUY	3	\$141.86	\$426	EQUITY
13063	BUY	110	\$142.31	\$15,654	EQUITY
13064	BUY	100	\$142.44	\$14,244	EQUITY
13065	BUY	2	\$142.44	\$285	EQUITY
13066	BUY	108	\$141.83	\$15,318	EQUITY
13067	BUY	65	\$141.53	\$9,199	EQUITY
13068	BUY	35	\$141.53	\$4,954	EQUITY
13069	BUY	100	\$141.98	\$14,198	EQUITY
13070	BUY	5	\$141.98	\$710	EQUITY
13071	BUY	5	\$141.98	\$710	EQUITY

13072	BUY	60	\$141.77	\$8,506	EQUITY
13073	BUY	30	\$141.77	\$4,253	EQUITY
13074	BUY	10	\$141.78	\$1,418	EQUITY
13075	BUY	170	\$141.62	\$24,075	EQUITY
13076	BUY	3	\$141.70	\$425	EQUITY
13077	BUY	295	\$141.68	\$41,796	EQUITY
13078	BUY	2	\$141.70	\$283	EQUITY
13079	BUY	115	\$141.66	\$16,291	EQUITY
13080	BUY	2	\$141.66	\$283	EQUITY
13081	BUY	135	\$141.68	\$19,127	EQUITY
13082	BUY	100	\$141.68	\$14,168	EQUITY
13083	BUY	100	\$141.66	\$14,166	EQUITY
13084	BUY	4	\$141.70	\$567	EQUITY
13085	BUY	90	\$141.87	\$12,768	EQUITY
13086	BUY	20	\$141.90	\$2,838	EQUITY
13087	BUY	10	\$141.92	\$1,419	EQUITY
13088	BUY	5	\$141.92	\$710	EQUITY
13089	BUY	79	\$141.93	\$11,212	EQUITY

SERIES L

BROKERAGE

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	49,416,058	1,397,823
To the present Report	0	49,416,058	1,397,823

OPERATIONS

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
-------	-------------------	---------------------	-------------------	--------------------------	--------------